
    –  


                    
           

        

                      
     

                             
                        
         
        


                       
     
        


               



                      
 

  s not “look” random? 

                      

    

               

        
           
                   

           
       
             

At a local high school, 95 students have permission to park on campus. Each month, the student council holds a “golden 
ticket parking lottery” at a school assembly. The two lucky winners are given reserved parking spots next to the school’s 
                  
                   
                       
decide whether it’s plausible that the lottery was carried out fairly. 

State:  Was the parking lottery for a parking spot set up fairly or not? 

Plan:   Label the 95 students from 01 to 95, where 01 to 28 are in AP Stat and 29 
to 95 are not. Use a Random number generator to pick 2 numbers and see where 
they fall. We will repeat this simulation at least 20 times.  Record the number of 
times that the numbers are AP stat students. Make sure there are no repeats 
inside of each trial. 

Do:  RandInt(1, 95, 2) 

Conclude:  Based on my simulations of 20 trials, 15% of my trials 
showed that 2 ap stat students would be picked for the parking spot.  
There is convincing evidence that the lottery was set up 
incorrectly/unfairly and these two students were not picked by chance. 

Based on my simulations of 20 trials, 5% of my trials showed 
that 2 AP Students would be picked for the parking spot. There 
is convincing evidence evidence that the lottery was set up 
fairly and the students were picked by chance. 


